
3−10 2−10 1−10 1
R∆TP min 

0.5

1

1.5

2

2.5

R
at

io 0

0.002

0.004

0.006

0.008

0.01

0.012

0.014

0.016

0.018

0.02R∆
ef

fic
ie

nc
y 

vs
 

Efficiency vs dr

3−10 2−10 1−10
R(TP, jet)∆

1

1.1

1.2

1.3

R
at

io 0

0.001

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

0.01

R
(T

P
, j

et
∆

ef
fic

ie
nc

y 
vs

 

Efficiency vs dr (track,jet)

10 20 30 40 50 60
Pileup

1

1.5R
at

io 0

0.001

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

0.01

ef
fic

ie
nc

y 
vs

 P
U

Efficiency vs puEfficiency vs pu

DQMstep3_TT_CKF
DQMstep3_TT_default
DQMstep3_TT_ckfPixelLess


	Contents
	Page 1


